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Daily Practice 30.11.15
Q1. State the equation of the line that passes through
n Y X2 Y2 -3
(0, 8) and (3, 1) Y= 3 x+6
Me Y-y _ ,Ii R :%'—
K-Xy 3-0 =

; ] Today we will be marking the check-up, homework
Q2. simplify v500 and revising over multiplying out and simplifying.

:\[Ic,xﬁ:‘os_@

Q3. Solve the equation 4(x - 7) = 3x + 19

Ux~23 = dx+! x = 4T
A +2 S
Ux = dx+ U3
Q4. Calculate the mean and median of -2, 3} 8,9
- 2
Men - %=gaaf) Medien = 546
—2=Sé
1 V250 2. 2V34+5V3-3 3. V50 + 3v2 — V32
(5o~ E (BEE 43z - (B2 v
=506 ST +3NZ - 4o
= 42
4. V3(V8-+2) @(2@-&)
IR ) B =3 SN = W
\EVE -VE -13(f2
{6 -6~
S -

® ®
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5
7. Write with a rational denominator 2:43 X\rj
RS kg
v
W3+
3

Today we will be learning how to multiply out
double brackets.

(2;: + D()C "5)

DATLY PRACTICE 1.12.2015

S
QL. Simplify 15h7 + 5h2 = 3h’

Q2. Calculate the area of a circle with radius 9cm
A== 8lw- Ad%-Wems Co 24¢)
Q3. Calculate the volume of a cube with side 4cm
V=lxlixl = bdem®
Q4. Multiply out and simplify 4m(3m* + m3)

Q5. Solve the equation M:ﬁlam + l—H’\“ .
w2l w2 1 ym
Sm-1=3Y%
Sm= 35
M=
—_—

Multiplying out and simplifying - Revision

February 09, 2016

Multiply out and simplify the following:

(3) 3(2x - 1) + 4x (e) 20h ;hhﬂih-i)
- (5’3 2h -2 +
Lex Sy s
(b) 6h(2h - 3) - 4(5h + 8) (H M3(m -2)
[3h*-18h -0k 5L mY_am
[2h*~38h-32
(C) 2t(t - 5) + 3t(t - 4) + 482 ) mm'l/2>
2106 4382 12k + 4 Rm*_ 3k
qtz_ 2t
(d) 7h -8(2h - 4) (h)@g)
Th-lh+3L V3 —\ls
~9h+32 AZ-4
Multiplving out double brackets Questions in Context

Write an expression for the area of this rectangle

(3+6p)

(1-4x)
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Write an expression for the area of each of these rectangles Multiplying out double brackets 121D
1 3x+4 2
Write an expression for the area of the large rectangle
w3 x-4
o ® d ad bd
2a-1

3 4

7p-3 c ac LC
Ja+4 2p-1

a b

(o\+5)(c+o\> = odtac+bd +be

2x
x 2 N
x 2x -
x x" 2
=
Yl %x -4
3 3)( 6
(s LOCZX.—\)
(X\LS)()C \—2\ 24 dx + 6 48 - b=k
x5 + b ix-Y
Daily P . 2.12.2015
Q.ESHO’\S X Y Q1. Find the value of a car that was wogth £15 000 and depreciated
x by 12% 1007 ~\ L7 =887% =08
@ (x+‘l-)()(\—|) \ 15000 %088 =113 200
xt+5x+4 Q2. Without Iculato ork out the value of 7 x 8 x 103 and write
. Without a calculator, work ou valu x 8 x 103 and wri
@ (;ZIJZH—LSX)’.;D your answer in scientific notation "
x4 -
Q Grrdlxr D 56 % (000 = 56000 = S:6 x10

Q3. Calculate the area of 1 sixth of a circle with a diameter of 20cm

@( 5> +lbsc+3 l
Nt 2)(x +9) A- W= k107 = 3144059 6 A= SI4I89...

2x2+Rx 10 ltio| d simolif 8 6
@ C‘SX’LO(LDHS) = | -x=20 Q4. Multiply out and simplify (2m? + 3)(ms - 8) T

©) G8)-3) = -3 e-2y Am’ —~lbm” 1 3m 24 dp)
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Multiplying out double brackets: Quick Method

To multiply out double brackets, multiply each term in the first
bracket by each term in the second bracket. (Be careful with signs!)

-

i @+b)c+d)
Today we will be continuing to multiply out i 3(c+d) +b(c+
bracket and learn how to square brackets. N

Examples:

@) (@) (b) (2@) ) (@4)

3 Al 2
LR PV VIV (2 § K Jfk +3K+3 S9 _onﬂj;lg
ok 09’ ~139-23
P —— 8;_3;/

Multiplying out double brackets

Multiplying out double brackets

Questions: Multiply out and simplify

Questions: Multiply out and simplify

(i) (2¢c + 2)(c - 4) (vi) (Tm® - 2m)(9m® - m)

(ii) (3h + 5)(h - 7) (vii) (2h® - 10)(6 - h)
(iii) (5k - 5)(k + 4) (viii) (1 - x)(x - 1)
(ix) (3 —4%2. /2 + 5)

(iv) (2k? + 7)(9k - 9)

(v) (m® + m3)(m? + m) (x) (VZ+3)3J2 +4)

Multiplying out double brackets (surds)

(i) (2c + 2)(c - 4)
QLL - Lc —?

(i) (3h + 5)(h - 7)
aht —lh -2

(i) (5k - 5)(k + 4)
Sk* 415k -0

(iv) (2k? + 7)(9k - 9)
kK - Bk ik -3

(v) (m* + m*)(m? + m)

EY s
m ot g T

(vi) (7m® - 2m)(9m® - m)
63™ M Qe — |8 m ?—Z'\:

(vii) (2h® - 10)(6 - h)
ne —l\ni _bo +1oh

(viii) (1 - x)(x - 1)
x -1+
P =]

(ix) (3 B
Vg tsV2 -¥ Y=~
T NG -

=
(5Yg +20(% 4-'5“ +q\ﬁ
30+2002+ W +4?

Multiplying out double brackets (Squaring)

Multiplying out double brackets with surds follows the same process.
(Will use when rationalising the denominator)

Examples:
(0 (i)

Square the following out and see if you notice a pattern

(x-1)? (x +3)?

(x DG A)

(2x + 4)? (5 -x)?
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Daily Practice 4.12.15
Q1. Find the value of a house that was worth £84 000 and appreciated

by 6% in its first year and 8% in its second.
84000 x106= £ %o

39040x 1-08 =196 (6320
Q2. Multiply out and simplify (3x - 1)(x + 4)
3x" 4+ -2 —4-

Q3. Simplify 2v3 -v48

i -2
Q4. Simplify - th/ls .
Fo® = dm
Q5. Multiply out and simplify (3x - 2)
Qx 2)3x-2)
Yo bx- b HY
- [+

Multiplying out double brackets (Squaring)

Square the following out and see if you notice a pattern

(x-1)2 (x +3)2 (2x + 4)? (5-x)?
Ce D) XHEx 9 (r)xtd) 25 eyt
=2 4| Uxt + 16>+ (b

Squaring out brackets

Squaring out brackets
- Square the first term.
- Multiply first by second and double.

- Square the second term.

Examples:
1. (x + 1002 2. (3x -5

X +20x+ 100 P-30x +25
3 (A2 4. (5x+2)?

(6 =8 +x 5%+ 0x+ Y

Today we will be learning how to square out brackets.

Multiplying out double brackets (Squaring) (O + q\

February 09, 2016

(42X x+0)
2x 4
2| = H 2x \ '] dx
4 18x| |6
| . | 2=
X 4 2x
q
X 2 2;{
ETR

Squaring out brackets

Multiply out and simplify the following:

MOx-12 () Gx-32 G (7x-6)2  (iv) (-2 +3x)2
- Gt - Byt A R .
v A Y - Mo+

(V) 2x -1)2+7x (vi) (x=8)2+ (x + 4)2

e |8
thl,l-b(rl + Y Y -be ¢y T Wt A B

L (-]
kb:")’“"'l Ure — 3% +6

L
(Vi) 30+ 62+ 2(x- 402+ 50+ 9 (Vi) 10Gr 58 _ 100ear D)
3G v de) 120" B k) + 5T (x+3)8 )
B 4 3brc4 108 + 2t -lby 432t S"Li’ =10 CRL + Gt T
_ l011+ Lo+ 0

o5 +1LOx * s
e
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Daily Practice
Q1. Calculate the volume of a cylinder with radius 4cm and height 17cm

Multiplying out double brackets with trinomials
2
x 2x 5
3 \[;erkzqqum = $54.50m"
2 Q2. Multiply out and simplify (2k + 3)(k - 8)
- x /ch ’ 5JC. iply out and simp! IzK‘—l6k PR L
7 K —13k-2%
3 2« bx S Q3. Factonse:E? - 2%
3 04 simplify V120 = (& V30
(X fS)(x%?mﬁ) = X ‘1‘3)(?— + ”3( + ‘S 216

Scr ~2c | 2
Q5. Evaluate 327

x| 19, -6t | 3 l .
32

4ioe|-8x1 4 |

ISx® + s - + - 12__ N
(3 t4)(ax? -2 +1) =

Today we will be continuing to learn how to multiply
brackets that have more than 2 terms.

Homework online due 14.12.15

Multiplying out double brackets with trinomials
(x-3)(F+x+6)

Multiplying out double brackets with trinomials
@ (x+3)2F+4x+9) )
Multiply each term in the first bracket by every term in the second. Qo x4 G4 10X +20+45
Qx3+Bxt+29x+4S
© (r-260-50+7) @ (G+7)B"+9%-2)

(Be careful with signs!)
(& (x-4)6r-x-8) (H GO -2x+11)

) Gr+aE-11x+2)

Examples: Multiply out and simplify ‘
(«P\ (@ (@ (x+1)EY+4r+1)
i) Gm + 7)(m? ~8m + 3) :
S - ) i
) (-2 () Gr=3)3x -5x-4)

(i) (ke -1)(2k2 + 7k + 4)
= A4 +9m < Fm ®

%K +7f_k2+ %—Eﬂlﬁ Y4
S + 2 (1) (k - 1)(3k + 5Y (m) (6k - 1)(2K2 + 3k - 1) - (x+5)

A KK Y ST = me 21 () (h+ 17 - (h+ 5%
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Multiplying out double brackets with trinomials

@ ai;: ;.:;(;: ;;\4709; t420%+4S ® S()t 1 ?gh:L: g 6)\ = : -\%
.’Zx>+hx‘+7-°\"~"’"*5 S -t A !
(x = )6\ —5x+7) @ =7 (h =+ Ox

2)
z UL.‘.L\} w14
Lo —|'17& AR b C\)‘ Yot 4 b

© G0 o8 e © 6 1)({)\—2&11) BRI

$50 — > - 132 } *S,c syoca WY
2+ 13 + 3+ -
(€3] (3()‘\)r L)SL\ni\\ Diiper)® G \ 4) 5 11\* \.)~ Lot x4 3
by? et 1\);-\—\ '5)0 Jf\vv ’3%)“‘%
i Sx—2)(2x + 3x — 4 33 -5
(l).oiff\%(x\‘ >sY>~-u7 -Lm\\p) \1(72’ )3‘ \En Gl \5oe TR
(652 +NH*—4HYhHhe v L2 - 28 — e vV

’ P e <4105 ~ 1Y

(0 (k- )3k + 5) (m) (6k - 1)(2k? + 3k - 1) - (x+5)
(h-0) (T2 430k ¥ 25 [ud 4 W —6h ~ 2t =+

. -2 =3
ax> DS W +HOK o
-y — 3 [2w> +WLE —qw Y-

QK FLIKE-Dw B

(n) (h+ 12 - (h+ 5
Rrdet) — (Rby lols B

W] - kT ook
_sh—-n

Surds: Rationalising the denominator

Revisiting surds...

What happens when you want to rationalise the denominator when

you have 3 fraction of the form below?
3(12(2)

30 x 1=V2
m X f“'\[i :([+V‘2‘.)(l-ﬁ)

=332 3a3p
| -Z+p-2 = -l

=343\

DAILY PRACTICE 8.12.2015
Q1. Multiply out and simplify (x - 4)

~yXx -4
(Iﬁ- q;c-&?cﬂb = K-Bx+1$

Q2. Find the value of a house tha’c was worth £140 000 and appreciated by
15% per annum for 5 years. (0076 + 1:5% = 10157,

Ibo 006 x 1.015% F150 21916
Q3. State the median and interquartile range oFZ, 4,7,11,19,-2,1,15

r\quug—%e (‘O’\\cje Q‘S"Q 2 L‘ _11 Q{ N }«C)
Q4. Simplify ~/200 -15= 8 S W\chxo'\ Qa= LH“:"
\iwi2 - O\Yi —
= Qu=b2 | =qul
Q5. Evaluate 16 4 RN =

1 [
15%:QW3 :_2-3-:_&—

[o——

o

Today we will be working out how to rationalise the
denominator for more difficult questions.

Homework Online due 14.12.15

Surds: Rationalising the denominator

To rationalise the denominator of 3 fraction with surds where the
fraction is of the form

a

bt

<

Multiply both numerator and denominator by the conjugate of the
denominator(the denominator with the middle sign changed).

Qo x bNE€
bl yi-(E

February 09, 2016
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gl 2, él‘ 2
Daily Practice 9.12.2015{%‘ "3—;
QL. Multiply out and simplify (x - 4)(2x? + 7x - 8)

0?4 It ~¥x =Bt ~L¥x +32

Qx> —x* —3624-32

Surds: Rationalising the denominator using the conjugate

Examples: Write the following with a rational denominator

.Fr
1. 5 ~\J5 2. 443 X Lu-}—\ﬁ_j Q2. Write with a rational denominator i,_ z% = ?'3—5
—; % 35 a2 x4 +v2) v
AS-NE N
= (TaRGEAT) = (H'\r> LH.\F&} Q3. Evaluate 1:44% kq‘
L—2Vs GG +2) [T
m—_-s Q_/ = 1?2% i
B AT 4+ 2 +43 +V6 Q4. Simplify k> (k? @ Q5. 3,
S (6 +4v5 -5 — > 2 x> %2
22 =Y Kk Fra-2
= U4y +0E ~ -3 a
—_— Fx =2l
“‘J" x =3
——

Surds: Rationalising the denominator using the conjugate

Rationalise the denominator. in each fraction. using the appropriate conjugate surd.

@ = (b) = © = (@
V2-1 s+t 2-43 1-2
Today we will be continuing to learn how . s 3 ;
to rationalise the denominator. ® 5 ® 7o ® 75 ™ 5
5 4 L 1
i j = K 1
® 3442 0 1+43 ® N7-2 ® 3-42
6 12 3 14
@ w5E @ we @ FE P oo

A‘ Daily Practice 11.12.2015 A

Solutjons: Q1. Multiply out and simplify (x - 2)2 + 3x
X% -Y4x+y 3¢
51 © 3120243 @ -1+42) _)'_L_'xg*_q x 2-V3

[T (b) ;

3 3 6B
Q2. Write with 3 rational denominator EYNS «2-¥3 72“’3)(2@
® (22 m e ) B 6-W3
_ - ] 4> =
CINES R (S (R Q3. Calculate the height of the manqle

: o . o h_
140 ++12) Sinx =T, Sin W= T hcm

— /5
© -to-m @ 5D

14cm

m 637 @ %(«/EHE) © 3546 @) = e h
Q4. Solve 3X#2_x_ el
R 6 l4om chP)
X2 X)— —

Ix+A-x = Y
Urt+k= 4
= (X
x-6
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Today we will be learning how to work out some trickier
questions on surds and indices.

Homework due Monday.

Today we will bz completing a freasure hunt
on indics.

Homework Due.

February 09, 2016

Mixed Surds & Indices - Tricky Questions w15
Examples: Simplify the following

@ 1., -t

Daily Practice 14.12.2015

Q1. Multiply out and simplify (2x - 1)(x + 3)

St bx - <O
m QAx*+5x 2
Q2. simplify p2(3p - 4)
3p-Up”
Q3. Calculate the median and inter-quartile range of 3, 2 117, B4
mm‘—Ql'-S'S ! 32 ’ Lé}l‘qé)‘%
d @y MRTT-3

Q4. Write with a positive index 357
3

*
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~\3 - ~ 1 ~ 2
Iz 2\ 1L 0O 31 _. <4 =
tYyn 1 1 /YN Al I P
\T o i o AV d 124
\ 7 ¥ i
/ " \2 _ >
(n.2 1.\ ~- 6 I 1 -
VLD AOD) <H Y o0 2 2
\ £ L JI 6L Al L 7
: ’ i NV L i
h'4 __ 14
S 15
4 14
1 2 ¥y
£ =< L/
7 i
x
Y, L s p—
1L I T L0 A 2 /
i NL i 7 i i T _J -~
r} X r} I & J
A i v a

S

|
o
SO
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Mixed Surds & Indices - Tricky Questions

i 3
. LA 5 ~ (b) PR
AJDUD A+ LD7) n<+/n VLY
Vi \i i 7 V =Y o VX
1 I 1
| -~ A —
—{( N+ .p°) 2 s}
[\ =i 7 - + Z
Al D i
A\ o
Mixed Surds & Indices - Tricky Questions Simplify each of the following by ........ (i) changing root signs to fractional powers;
(ii) moving x's onto the numerators:
L2
(c) { 5) (iii) expanding brackets ...... where necessary.
@ St » ety @ Lol
e
@ Zesd ©® e ® [x-1
e X Nx \ x)
® ‘diem ™ [xe] ® <[5
x \ VX X /
) T V+3 ® WJx 7—.\ » (2x 4;1)'
X : 4 3
32
H @ aex ®)  x-a? © 5T Daily Practice 15.12.2015
@ 2 e2r © o1 I \-tzw_\% QL. Solve the equation ¥**5 |_ ¢
. 3x+4S -2z e+
[£:4] il (h) a2x a7t (1)) X 3x _;3‘:‘}2:{‘22 ‘ x=9
[§)] x+3x7 &) A_i—.\"] @ 4\%—4.\%+1'7.? Q2. Slmpllfy Zk(kil+5k2) 5
2 +lok

Q3. Calculate the height J%f the triangle
,r N Tandd’= 16
o= o —
I0XTer35% x  X=Tem 20cm

Q4. Write with a fractional index %’
3

x¥



Today we will be practising how to
factorise and going through the

homework.

(2)A garden measuring 6y + 5 metres by 2y - 3 metres has two square

12 vy
: - : .
645

flower beds of side y metres. The rest is grass.

l'&b" - l%j r\(b )

(a) Write an expression for the total area of the garden.
\Q‘J’l -y -15

(63 \~S)(Qd -3
v

(b) Write an expression for the area of the grass.
(éktjfo)(ltj ) - ZL\jl
\¥ /
(c)If y = 2 and lawn food costs £1.50 per square metre what is the cost
of the lawn food needed to feed all of the grass?
- T
(Qyt-8y 15 -2y
(04 ~8~1S

lo(@) -3Q-1S VSt Qe expression
Ybo-16-15 =9 9
50 - &\32

waliply

¥
0

Today we will be learning how to factorise.

(a) (r-3)(r +10)

rl+[0r-3r *30\/ q‘\'Z*éU‘&J‘f [*
3 -30 Ryt-Rw Y
v [

v
onsug

February 09, 2016

{Swzz)
(0) (3w - 27

Q1. Expand the brackets and simplify the)followmg expressions
=2,
(c) (7a - 2)(a + 5)
gt +35a-2 -0/

S3 (3.1) Mutiplying out brackets & Factorising.notebook

Fa? +930 ”\‘g

(3) (2a - 3)(3a% - 7a +4)

ba — |uet Jrgc«fic\Q A a1
[

(f) (x +1)(4x* + 6x - 1)

o + 6>+ #boe - |
“ % “
Us® 416 x" +3% | ba' a® 4 V4 - 12
v o
- =
£
L ——
=
Daily Practice 16.12.2015

&>

Q1. Write with a fractional index /.

x 3
Q2. Find the value of a house that was worth £88 000 and

appreciated by 4% per annum for 7 years
loo% +47. <1047, =104 _
83000% |04 J'PZHS 0%
Q3. Multiply out and simplify 2k - 3)(k +4)
QAE+8k -Je- Vo
— = Ac2ask=1X
Q4. Simplify ~24 ++72 —_—
W& I3+VVg
AR + K3
2\b 4 4(zZ

Multiplying out brackets ~Working Backwards
2
x°+6x+9

) V:}’/hat multiplies out to give these solutions?
X +5x 12ab + 4b
2 (x+3) b((Ae+ 4) « &?g’)‘fg
32C<3+ ) '-ii((:zo.+ D x(x+6)+9
Q 2
bi+be L 00p? - 25
b(b1c)  p?45h+6 oo - &)
bett)  (b+3)(bt?) 21 253b-1)
b(b — 1 5041,2-
(1316 HNx-) (o 5219;)((?2—5)
25(2b +1)(2b-1)

)
2xT-N)-2x2 4~ |
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Factorising

The opposite of multiplying out is known as factorising.
There are three types of factorising:

1. Common Factor
2. Difference of 2 squares

3. Factorising trinomials.

look for 3

Factorising - Common Factor

Come up with 5 factorising questions in which the person has to take
out a common factor.

Today we will be continuing to learn to factorise.

February 09, 2016

Factorising - Common Factor

Take out the HCF (both numerical and algebraic)

Examples: Factorise

1.123h - 18h2 2.30ab - 20b2 + 10bc
= M\(Qa—&«) 2 10b(3a- 2b - C)
Daily Practice 18.12.15

15 Questions Mental Maths

Factorising - Difference of 2 squares

Multiply out and simplify the following:
1. (x-3)(x+3)
-9

2.2x+1)(2x - 1)
Ut - |

3. (7Th+4)(7h - 4)
49h - 16

42501-2001+ 20— (| qu_tzx—'-(x&)
25-[00x* 13(|qui)
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Factorising - Difference of 2 squares

What pattern do you notice?

Factorising - Difference of 2 squares

¥ First, always look for a common factor.

To identify a difference of 2 squares, it will be 2 terms that are
squares and there is 3 minus inbetween. Be familiar with your
sqaure numbers.

Examples: Factorise the following

(a) ¥ -y? (b) 81 -m?
(g o= 4) (4 m)
() 9x* - 100y (d) 50 - 32m?
2
G+ 104 Yo ‘Oj) 2@S ~ [bm

2(S +UmXS - by
(e) Evaluate 1.752 - 1.252

) 154 Q354125 )15 — 1-25)

nd
Ql L Column
QR midd@ column (S)(O 3)
Qa+é = g

Today we will be learning how to factorise trinomials.

Factorising - Difference of 2 squares

Working backwards. What do we get when we factorise

32 _ bz i
(a 4 b e — b )
a° _ok+ak bt
at-b*
Daily Practice 8.1.2016

A
Q1. Multiply out and simplify (3x - QQ2x+ 4) + 2x
6x1.+{f2x “2x Y +2%

by 1B -4
Q2. Find the value of a car that was worth £4500 and depreciated by
14% per annum for 2 years (007, — |4 % = 6%

k300 % 0 %6'+ £3323 20

2 s T
53388 B g
E
; Q5. Write with a rational
- : 3 2
GMT +am ! denomma’cor:‘Tz t =]
= fmi+ 2‘,;.; = 32
2
—_ﬁ:s_\
Factorising Trinomials 3116

A trinomial is an algebraic expression that is of the form

ax2 + bx + ¢

When we factorise it, we are thinking, ‘what pair of brackets
multiplies out and simplifies to get this answer?’

The answer will be a pair of double brackets. Always look for a
common factor first! We can use the rectangle to help us.

February 09, 2016
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Remember?
(x+6)(x+4)
X 6
x x* bx
4 Ux Y
o+ 10x+2Y4

Factorising Trinomials with 3 unitary x2 coefficient

Factorising Trinomials with 3 unitary x2 coefficient

February 09, 2016

Examples:
1. Factorise x2 + 5x + 6
x© 2
x* QAx
3 3x 6

(x+2 X+ )

Factorising Trinomials with 3 unitary x? coefficient

Examples:
2. Factorise xzﬁ + 24
x -&
x x*? - 8x
d
-3 -3x 24
M- Xx-3)

Factorising Trinomials with 3 unitary x2 coefficient

Questions: Factorise the following

O =+ 1435 Q@ xtrisc + Sé
@ 2t 5;+H @ )21 —38x -0
@ 2 - |L|x + 4o @ )C.L - Boe — LB

= 2 g, —22

@ 2 ¥ 1O 1Y47:2
" -

@ o -3Ix 0 a 3 -we b
© £ =+ @ 3¢ W -3

Examples:
3. Factorise x? - 7x - 44
% =1l
x x?* P I
44| +lx -4y
(e <1l Xx +4 )
Daily Practice 11.1.2016
Q1. Find 19% of 2100
0% 210
1o 20 339
% ) 18T

Q2. Calculate the height of a cylinder with a radius of 4cm and a

V=nrzh = 603-(9 h=~ 60319

volume of 603.19cm? wxlbxh=b03-19 6y
13 3 3 35 § 2 1 ~|em
Q3.2§*g-_5‘5 S wm -1 =S B h_—;|f—_
Q4. Multiply out and simplify (x - 3)(x + 4)
X 34 4x -3oe - 12
Q5. Solve 3x+9 _, X+ X -2
7 - -
3<+3-12
3x =3

"
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Factorising Trinomials with a non-unitary x? coefficient

Examples:
1. Factorise 10x? - x - 3
Today we will be continuing to learn how to factorise S5x = -3
trinomials. 2
Homework Online due 18.1.16 % 10" b
| Sx -3

Factorising Trinomials with a non-unitary x2 coefficient

(3x-3 Yax+1 )

Factorising Trinomials with a non-unitary x? coefficient

Examples: Examples:
2. Factorise 4p> + 3p - 7 3. Factorise 4x? + 21x - 18
2F Up T K Yx o AA
ai Yp 1P Q/)fc Y™ 3x
s -1 ARAX| dx -3

UpsF Xp-] )

Daily Practice 12.1.2016

QI. Calculate the median and quartiles of 2,

T

é w\ﬁo“cr\
Q2. Calculate the value of a house that cost £320 000 and appreciated by 4.2%

per annum for 3 years P

320000 % 1042 *£3b2 03715

Q3.Multiply out and simplify (3x - 1)2x2 + 6x-1)
6x® 41837 -3~ - b +1

6> +lbx" -]
Q4. F;itojise;-36x+’ Q5. 2%*% = % = ;L _ XTSf—
(et ) - 6)
:_31 B
(8] :QE

(Ux -3 xx +6)
\

Today we will be continuing to practise factorising
trinomials.
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(@) 3+ Tx+2 ®) 2a-5a+3 (c) 4}?3 -p-3

(d) 2p3+ 11p+9 (e) 6 Tx+2 ® I £ 10w -8
(@ Sq+9g+4 )  Ami-om+2 M 6b2+Th — 20
@) 3a -+ 14a+ 135 k) 3}71*37}7*12

@  Gr+DET2) @) Qa-3)e-1) ©  Gp = He-1

@ @=9e<D @ @-nm-p O G- DEEY
(8 Gg~Hg+1) @ @m- Hm-2) ® @b+ 5)Eb-4)
: W) Ad-4d-15 @ Ga=Ha) w cp-ve-1p O CITHEA-9
m 67 1r=3 @) 24c-22c-3 (0 36:iv_2 m) GyED@=3 @ (6 - Dde- 3 @ @Gy T DEV-D)
r) Bm="T)4m-1)

() 12m™ =3lm+7 @  Be+NGe+2)

(u)  9¢” +18c+8 (X  (4b+3)(2b-3)

(x) 8" -20-15

Pegasys

Daily Practice 13.1.2016

Q1. Calculate the value of a painting worth £45Q0 that appreciated by 12.5%
in year 1 and depreciated by 4.8% in year 2. 00%6 + lQ@ sz WSy

Lt p A PO
629X o Q52 = glg s 4.3
Q2. Factorisz 5x2 - 2Ox -3 u—‘ - ‘15,2 v . - . . . .
S 1) x ’l\) 645, Today we will be continuing to practise factorising trinomials.
Q3. Solve LCJrj:fc{% Sx +3=3x+13
X3 3 %3 -
2 & T (X MIA 3B Page
Q4. Write in scientific notation 0.0008976 x,_'e 156
AT X (o7t
@s. 22-2
s 7
a 20
S L e T
57 F°357 % ~33=dms
Daily Practice - 15.1.2016
at. simplify 2, 0 — +c$& S
a4 [o ————’Q

Q2. Multiply out and simplify (x - 4)(1 - 3x + 2x2)
X322 -4 +Re-Rx>

s a3 -
Q3. Factorise 49 - 2 20—l TS -G
(F-O +Q)

Today we will be completing mixed questions on factorisation.

Q4. If two bottles are similar in shape. The height of the smaller Homework due Monday!
bottle is 4cm, the height of the larger bottle is 6cm. Calculate the

volume of the larger bottle if the volume of the smaller bottle is

600ml
S-Fz 6_. Ll = ls

Vst - (%)3
Voluwg Iquer bottke = 600 XGZ)Z -)051511\]
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Mixed Factorisation

Always look for 3 common factor first.
Look out for difference of two squares i.e. a® - b2
Trinomials will always be of the form ax? + bx + ¢

Some may look like a trinomial but you may only be able to
get common factor and go no further.

Daily Practice 18.1.16

20 Questions Mental Maths

Q1. Factorise each of the following fully using common factors :

February 09, 2016

Today we will be completing a check-up on
multiplying out and factorising.

Q2. Factorise each of the following differences of squares :

(@ 3x +6 (o) 16a - 12b ) -
Ul b vy
SC)G? s (m:})b&-‘a)
v v
() x* + 3x (d) 6mn + 8mp - 4mq
6esd B (3 Fap— 29) @
/
‘/"

@

(b) 9a%- b2
(3eb) GaY)
v
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Q3. Factorise each of the following quadratic expressions :

(c) 25p% - 497 (d) 1-16x* 5 B () 468 © ¢ -aqea
Cpraer s 0 _1'\/"\(\:(1“) (e 606
v
(1-axX 1 2:0)(1-250)(] 25 o
(s-2)*
i

® ®

(e) 2k* +3k +1 (f) 24x* +2x -1

(- O(w +)
v v

(€) w-w-6 (d) m?+m-12

D) e Lo+

® ®

Q4. Fully factorise each of these expressions. There is a mixture of

types.

@ 1-h-2liz l\) (h) 9a% + 6a- 8 ) (a) 4aib - Bab: (6) 6x - 24x
a - (LY 8 bl’ (’_’)& \—/‘l L’5° \:f/ 4 L‘Ql,(o _ QL) ‘1([ - L\)J) \/
v’ v v ( ﬁ)(\ =
o b3 (S w2
- ard
(—2k+ﬂ(‘r\+\> qa(oloJsz)

® N
Zob(3a-4b) ®
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(c) 40* +14b-8 (@ 1- )
_ H+x
QLZ\’I "_;I/b/— L‘) O * )L " TOTAL MARKS % 3%
Y]
Az g +4)

(2b+‘(‘>)(%—
(4b-2)(b+4)

@



